Andhra Pradesh State Council of Higher

Education

Notations :

1.0ptions shown in green color and with " icon are correct.

2.0ptions shown in red color and with # icon are incorrect.

Question Paper Name:
Duration:
Total Marks :

Display Marks:

Share Answer Key With Delivery Engine :

Calculator:

Magnifying Glass Required?:

Ruler Required?:

Eraser Required?:

Scratch Pad Required? :

Rough Sketch/Notepad Required? :
Protractor Required?:

Show Watermark on Console?:

Highlighter :

Auto Save on Console? ( SA type of questions will

be always auto saved ) :

Is this Group for Examiner?:

Geology 25th Oct 2021 Shift3
90
100
No
Yes
None
No
No
No
No
No
No
Yes

No

Yes

No

Geology



SectionId: 79352337

Section Number : 1
Mandatory or Optional : Mandatory
Number of Questions : 100
Section Marks : 100

Enable Mark as Answered Mark for Review and

Yes
Clear Response:

Question Number : 1 Question Id : 7935233601 Display Question Number : Yes Is Question
Mandatory : No

The oldest Era in the Geological time scale 1s
2203707228 B WZOS HOrSS 570
Options:

1. Palaeozoic

DO RO

2. Mesozoic

IRV ONS

3. Archaean

TISPAOWIN

3. %

4. Cenozoic
e323 005

Question Number : 2 Question Id : 7935233602 Display Question Number : Yes Is Question
Mandatory : No



Which one of the following 1s a uranium ore?

80& ¢3S’ ANDIONO Ty DE?
Options :

1. Pitchblende

Lo T).0B
2. Sphalerite
L PIOBE
3. Monazite
B Ed
3. %
4 Galena
KO
4. %

Question Number : 3 Question Id : 7935233603 Display Question Number : Yes Is Question
Mandatory : No

Which of the following 1s the oldest series in the Cuddapah system?

806 are36S §655 53539065 TPehS DD DA
Options :

1. Nallamalai
ADNS

2. Papaghm
SUCUEN)

2. ¢



3. Krishna

4. Cheyair
2000
4, % =

Question Number : 4 Question Id : 7935233604 Display Question Number : Yes Is Question
Mandatory : No

Pick the odd one among the following

20 3°¢36S 230 o0

Options :

1 u e Ptilophyllum

2. Glossopteris

FF RO

2. %

3. Williamsonia

DO ONRITIN O
3. ®
4. Ozotamites
, 5,580

Question Number : 5 Question Id : 7935233605 Display Question Number : Yes Is Question
Mandatory : No



Echinoids are marine

DDSONEY DS

Options:

1. Microfossils

. OO
2. Invertebrates
, o @835 en
3. Plant fossils
208 Fereren
3. %
4. Vertebrates
HEZBTeD
4, %

Question Number : 6 Question Id : 7935233606 Display Question Number : Yes Is Question
Mandatory : No

Cerussite 1s an ore muneral of
RDAVE 2,8 P23 PO

Options :
1. Manganese
ORI

2. Copper
2 % o~f



3. Zinc

. x 2308
4. Lead
v OB&

Question Number : 7 Question Id : 7935233607 Display Question Number : Yes Is Question
Mandatory : No

Tumnitella 1s a

SOOI 2,8

Options

1. Gastropod
EIEVEN

1.+

2. Cephalopod
DS

3. Brachiopod
D 0P A C

4. Arthropod

e3| DG

Question Number : 8 Question Id : 7935233608 Display Question Number : Yes Is Question
Mandatory : No



Which one among the following 1s a time unit?

806 ¢3S B OHTVE DE?

Options :
1. Series
0

2. Group
Q%O

3. System
x5O
4. Era

380

4.

Question Number : 9 Question Id : 7935233609 Display Question Number : Yes Is Question
Mandatory : No

. Sivapithecus as a/an
BIDBER
Options:
1. Plant fossil
208) Feres

2. Primate fossil

D0 e 2300

2. ¥



3. Arthropoda
es| O

4. Replite Fossil
203°23°Q), (€3 BTD0

Question Number : 10 Question Id : 7935233610 Display Question Number : Yes Is Question
Mandatory : No

Kudremukh Region in Karnataka 1s well known for
076355 So6BHND DTT0H0 [HVD TOHOE
Options :
1. Gold
20MmO0

2. Diamonds
D25 T°eY)

3. Iron

TP B
3.

4. Manganese

S0BR

Question Number : 11 Question Id : 7935233611 Display Question Number : Yes Is Question
Mandatory : No



Which one of the following is the high rank coal

806 ¢3S 3 07508 &H
Options :
1. Peat
4 18]
1. %

2. Anthracite

S0T° VO
2.9 -
3. Lignite
L )B)E
4. Bituminous
) 2)ENMID
4.

Question Number : 12 Question Id : 7935233612 Display Question Number : Yes Is Question
Mandatory : No

Adularia 1s a variety of
SO @O 2.8 B0

Options :

1. Beryl
FAe])

2. Gamet

B 0OE0



3. Comumndum
35 SO0GO

4. Orthoclase

sI30

4. &

Question Number : 13 Question Id : 7935233613 Display Question Number : Yes Is Question
Mandatory : No

Monazite 1s an ore muneral of
B 2,8 DA B0

Options :
1. Iron
QDD

2. Alumimum

% ©O0%50AANO
3. Copper
o°f
3. ®

4. Thorum

EBAHO

Question Number : 14 Question Id : 7935233614 Display Question Number : Yes Is Question
Mandatory : No



The belemnites are common in the periods

BTSLE) 506 OE S G0
Options :

1. Jurassic and Cretaceous

L 2008 OO SIEINOHD
2. Cambrian

,x  S0DOADS
3. Carbomiferous and Permian

L SO DER HOAN 200D
4. Triassic

GAIOVWIESES
4, %

Question Number : 15 Question Id : 7935233615 Display Question Number : Yes Is Question
Mandatory : No

The long straight hinge line 1s characteristic of
P53 BSOS B & 90
Options :
1. Spirifer

)00
Ly =

2. Athyris
€9e38



3. Terebratula
[ATS LALLM

4. Productus
€5¢) @

Question Number : 16 Question Id : 7935233616 Display Question Number : Yes Is Question
Mandatory : No

The chief raw material of cement industry 1s
D0ES DOF s AEY (DTS NG HQ0o
Options
1. Calcite
SHORN

3. Clay

4. Limestone

W, L4 w,
py  SDD)Y)TON

Question Number : 17 Question Id : 7935233617 Display Question Number : Yes Is Question
Mandatory : No



The strike of Eastern Ghats range 1s

S0 000 DOH
Options :

1. NW - SE

4.NE - SW
4.

Question Number : 18 Question Id : 7935233618 Display Question Number : Yes Is Question
Mandatory : No

Who imntroduced the name Gondwana?
O 5° 20D DI (3% DETK?
Options :
1. Wadia
D CBO

2. M S Krishnan

IR €30S
2. ®

3. Medlicott
CTE

3.¢



4. William Smith
DEOONO >

Question Number : 19 Question Id : 7935233619 Display Question Number : Yes Is Question
Mandatory : No

Asbestos deposits of Andhra Pradesh are located at
SO(PDD? ABNEY BRI AT e 98¢ G OV
Options:

1. Mangampeta
P Vol [ORATeN

2. Pulivendla
O[O

3. Mailaram

0G0

4. Wajrakaroor
238855

Question Number : 20 Question Id : 7935233620 Display Question Number : Yes Is Question
Mandatory : No

Which one of the following is a equivalent of Kurnool system?

806 €363 EETY N 5DE0 DT SNE DE?

Options:



1. Dharwars

>3 5

2. Deccan Traps
A8 QT

3. Siwaliks

0OS
3. %
4. Vindhyans
DOCEED
4.

Question Number : 21 Question Id : 7935233621 Display Question Number : Yes Is Question
Mandatory : No

Diamonds in kimberlites represent ................ process.
3
§025BELOHS Q) HS Trew

Options :

1. Magmatic dissemination

. NV OITALIN IS
2. Magmatic injection
L o0 re3S RoBES

3. Magmatic Segregation
STT2¢38 I



4. Metasomatism

DDEFAITEI230

Question Number : 22 Question Id : 7935233622 Display Question Number : Yes Is Question
Mandatory : No

Zawar 1n Rajasthan 1s famous for the deposits of

ORISR 23556 G228 (DO

Options:

1. Gypsum

e 220
2. Copper
o°0
2. k3
3. Chromite
S
3. W
4. Zinc
i 2208

Question Number : 23 Question Id : 7935233623 Display Question Number : Yes Is Question
Mandatory : No

The central part of the echinoid test 1s called

DS 0NE HOE. TwE), 308 2T 9063



Options :

1. Corona

o rg

1.¢

2. Peristome

2DOFS)

2. %

3. Pygidium
03GANO

4. Apical disc
DDED BV,

Question Number : 24 Question Id : 7935233624 Display Question Number : Yes Is Question
Mandatory : No

Natural gas 1s formed from
O DI AN DBICDSBSIOE
Options :
1. Buried organisms

. T DEIS 22yen

2. Clay
3

s ]

3. Buried plant material

e DS Jng), Do



4. Shells
(HOCD

Question Number : 25 Question Id : 7935233625 Display Question Number : Yes Is Question
Mandatory : No

Metal content of an ore 1s called
5 By, e EoBr0E @033
Options :

1. Tenor

BSE

1.9

2. Gangue

HoMr

3. Rank

. x 505

4. Grade
=

Question Number : 26 Question Id : 7935233626 Display Question Number : Yes Is Question
Mandatory : No

Bayyaram in Telangana is known for deposits of

BTSSR 2057550 Gar2eS %0 (HVO

Options :



1. Diamonds

20 23°C
1, ® =
2. Iron
AP RPN RY
2. ¥
3. Limestone
i QA 6)T>ON
3.
4. Copper
. o°f

Question Number : 27 Question Id : 7935233627 Display Question Number : Yes Is Question
Mandatory : No

Which one of the following 1s the ore mineral of manganese?

806 3 DA STOHR TWE), D230

Options:

1. Magnetite

) T

2. Pyrolusite

DT
2.9

3. Galena

5O



4. Bauxite

2°8.)E

4, %

Question Number : 28 Question Id : 7935233628 Display Question Number : Yes Is Question
Mandatory : No

A magma contaming only one component is called a

2,8 2T, S edadd EOA &505) Ber QD) @0

Options :
1. Unicomponent magma

v D88y Fer(dd0

2. Basaltic magma

2SS P 550

3. Eutectic magma

; AT TIES B0
4. Binary magma
B3O B850
4, %

Question Number : 29 Question Id : 7935233629 Display Question Number : Yes Is Question
Mandatory : No

Lignite-popularly termed as
T E (DD OTT T DOHDTBE




Options :
1. Brown Gold
BC0 2030

1.4

2. Fool’s Gold
IO K'Y

3. Black Gold

A 20T H
3. %
4. Pink Gold
L 20§ {0

Question Number : 30 Question Id : 7935233630 Display Question Number : Yes Is Question
Mandatory : No

The Eparchaean unconformity separates

DarOONA 9TV DA WA

Options:

1. Archaean and Proterozoic

Lo ©B03OHS HOA (FTTeons

2. Proterozoic and Palaeozoic

P BIT23P 0T OO FEOTIF2300S

3. Palaeozoic and Mesozoic

S 018 O DF2rons

3. %



4. Mesozoic and Tertiary

SP23ONE OO ey e

Question Number : 31 Question Id : 7935233631 Display Question Number : Yes Is Question
Mandatory : No

Khetr1 in Rajasthan 1s known for

ORI Q B €3 0 1DV TOHO

Options :

1. Gold
2030

2. Marble
T3

3. Manganese

S0HAD
3. %
4. Copper
4 o°N

Question Number : 32 Question Id : 7935233632 Display Question Number : Yes Is Question
Mandatory : No

The type area for Jurassic system 1s

220708 H530 §H0 S80 ([2roeho

Options:



1. Karnyar
YeleWe

2. Trichonapoly
B erE)

3. Spiti
R

4. Kutch
s SV

Question Number : 33 Question Id : 7935233633 Display Question Number : Yes Is Question

Mandatory : No

Black colour streak 1s the characteristic property of

SenD) B0t e & 0

Options :

1. Malachite
DEFTE

2. Heamatite

PSRV TATA
2. %
3. Pyrite
e 200

4, ®



4. Magnesite

09 €S

Question Number : 34 Question Id : 7935233634 Display Question Number : Yes Is Question
Mandatory : No

Which of the following is referred as heavy spar?
B80A e3¢SO 278 218 Q) 2ENS2EERN0E?
Options:

1. Diamond

x  OBO
2. Bauxite
. AT
3. Topaz
SOPORIeaa PN
3. %
4. Barytes
2306
4.+

Question Number : 35 Question Id : 7935233635 Display Question Number : Yes Is Question
Mandatory : No

35. Which one among the following is not a beach placer deposit?

800 T3S DA S DA Bar2ed

Options:

1. %



1. Zircon

2207

2. Rutile
,x  Ore3O

3. Monazite

DB ed
3. % pa
4. Malachite
QEer8E
4, & S

Question Number : 36 Question Id : 7935233636 Display Question Number : Yes Is Question
Mandatory : No

Which one of the following is the refractory mineral?
806 °¢3S |83 DABO DE?
Options :
1. Talc
EO),

2. Graphite

D
AR

3. Calcite
53O



4. Corundum
. Sd0&%o

Question Number : 37 Question Id : 7935233637 Display Question Number : Yes Is Question
Mandatory : No

Chemical composition of chalcopyrite 1s

D*O8 DT TBEY BN S5°0)

Options :
1. Cu0O

2. C2H> CusOg
2. %

3. CuFeS>

3. %

4. CuMn>0Os;
4, %

Question Number : 38 Question Id : 7935233638 Display Question Number : Yes Is Question
Mandatory : No

Chromite deposits are mostly formed by the process of

5 BB QBT (DBAD & §T° I Yoo

Options:
1. Magmatic Injection
o0 ¢38 Q0BES



2. Magmatic dissemination

SIS S5

3. Residual Concentration

L @03 56

4. Magmatic segregation

0T 2¢38 252385

4.+

Question Number : 39 Question Id : 7935233639 Display Question Number : Yes Is Question
Mandatory : No

Carat 1 the term used to refer to the weight of a

506 96 3B0E), DY APQOVFTRS Ao 0

Options :
1. Pearl
NS5O

2. Diamond

(230
2.¥

3. Mercury

030256

4. Gold
200



Question Number : 40 Question Id : 7935233640 Display Question Number : Yes Is Question
Mandatory : No

In an anticline older rocks lie at the
OWITA ISP Torl - ROy &™) 0N
Options :
1. Core
. €5

3. Periperi
0O

4. Side
Do)

Question Number : 41 Question Id : 7935233641 Display Question Number : Yes Is Question
Mandatory : No

The volcanic equivalent of syenite 1s

D B ) DG b &0 D300
Options :
1. Rhyolite
B3B3



2. Andesite
90D

4. Trachyte
(7 5E

Question Number : 42 Question Id : 7935233642 Display Question Number : Yes Is Question
Mandatory : No

Which one of the following rocks is a rudaceous sedimentary rock?

806 3OS DO EFBA0N @53 D 36)?
Options :
1. Limestone
QD) ) T>ON

2. Sandstone
QETON

3. Shale
PO

4. Breccia

12300

4.+



Question Number : 43 Question Id : 7935233643 Display Question Number : Yes Is Question
Mandatory : No

Which one of the following rocks shows hypidiomorphic texture?

800 ¢3S DO ITNBTIRTO)E 3B T A0E?

Options :

1. Lamprophyre

L x OO
2. Granite
S
2.
3. Aplite
€9 E)
3. %
4. Dolerite
BB
4. %

Question Number : 44 Question Id : 7935233644 Display Question Number : Yes Is Question
Mandatory : No

The chemical composition of olivine 1s

3D AINEY BP0 H3°%0)

Options :
1. MgSiOs

1. %

2. MgFesSi03
2. &



. 3 (MgFenSios

4. Mg>S1205
4, %

Question Number : 45 Question Id : 7935233645 Display Question Number : Yes Is Question
Mandatory : No

Kyanite crystallizes in Crystal system.
336 BRO QD 5’ 5)e38EBN0H.
Options:
1. Monoclinic
RUNER
1. &
2. Triclinic
EAERS
2.4 =

3. Tetragonal

2w OErHSS

4. Cubic
&o°s2)S

Question Number : 46 Question Id : 7935233646 Display Question Number : Yes Is Question
Mandatory : No

Which one of the following minerals 1s tecto-silicate?

20A DTS DO BF -OBE?



Options :
1. Epidote
DDEE

2. Orthoclase

&30

2. ¥

3. Mica
Paeici

3. %

4. Augite
s

Question Number : 47 Question Id : 7935233647 Display Question Number : Yes Is Question
Mandatory : No
Lamellar twinning is the characteristic property of

DD 350N OIE 8 €20

Options:

1. Microcline

DIEES

2. Calcite

53O

3. Muscovite

NWINOIS T

3. %



4. Plagioclase

T2 BB

4.

Question Number : 48 Question Id : 7935233648 Display Question Number : Yes Is Question
Mandatory : No

Which one among the following 1s the normal class of monocilnic system?

806 73 IO S VAT 35090 &), rerSen SEie?

Options :

1. Axinite type
e38YIE &80

2. Beryl type
2360 &80

3. Galena type
$OF 8%0

4. Gypsum type
230 680

4.+

Question Number : 49 Question Id : 7935233649 Display Question Number : Yes Is Question
Mandatory : No

Augite belongsto ................ family.

e i, 0N 02578 TOOIA.



Options :

1. Amphibole

BN O\ FeTAY )
2. Pyroxene
DTENS
2. ¢
3. Mica
FAbES
3. % =
4. Feldspar
Lk DO

Question Number : 50 Question Id : 7935233650 Display Question Number : Yes Is Question
Mandatory : No

Iceland Spar 1s a transparent variety of

0508 )0 9O 2.8 O G8 8o

Options :
1. Siderite
%365

2. Beryl
, % 2300

3. Quartz
S{eN



4. Calcite
e3¢

Question Number : 51 Question Id : 7935233651 Display Question Number : Yes Is Question
Mandatory : No

Chemical composition of Diamond 1s

B0 ABNEY BPONS 57K

Options:

3

1. %

Question Number : 52 Question Id : 7935233652 Display Question Number : Yes Is Question
Mandatory : No

The number of ‘planes of symmetry’ in galena type

TS S80S BrAsS 5e7e> Hos

Options :

|

1. %



]
LN

Question Number : 53 Question Id : 7935233653 Display Question Number : Yes Is Question
Mandatory : No

Number of faces i Tetrahexahedron 1s
Tetrahexahedron &5’ NP DO

Options:

Question Number : 54 Question Id : 7935233654 Display Question Number : Yes Is Question
Mandatory : No

The Miller symbol of Tetragonal prism of II order 1s

11 338 T3y, BEFHVO 2230 TB0EY, DO V) 0

Options :



1.110

2. 100
2.

. 3.101

4.211

Question Number : 55 Question Id : 7935233655 Display Question Number : Yes Is Question
Mandatory : No

Which among the following minerals are 1sotropic
805 DAOS DO DFES DS
Options :
1. Homblende
0 B30T

2. Sillimanite

2 0ZES

3. Gamet

v O30

4. Quartz
5°S$Q.



Question Number : 56 Question Id : 7935233656 Display Question Number : Yes Is Question
Mandatory : No

The plants which indicates the presence of groundwater are described as

25r(8) B GRBR) AP0 2308200 YT HO0TIVFOW

Options :

1. Phreatophytes
[ DE)

1.4

2. Xerophytes

200

3. Halophytes
5SS DY

3. %

4. Hydrophytes
TEDE)

Question Number : 57 Question Id : 7935233657 Display Question Number : Yes Is Question
Mandatory : No

Manganese aluminium garnet 1s

SFOHRR @ETTEDACHO FrapHE0 .

Options:
1. Forsterite

VEORI oA



2. Pyrope
HOD

3. Fayalite
P ODBES

4. Spessartine

AU OLS

4.+

Question Number : 58 Question Id : 7935233658 Display Question Number : Yes Is Question
Mandatory : No

Sill1s a
(D200 2,8
Options:

1. Large igneous body
220 i) $680

2. Horizontal intrusive

L g 0323085°065¢ 13 %25e
3. Vertical mtrusive
- SIOTARNYSTANAY

4. Sausar like mtrusive

6 DS HIO



Question Number : 59 Question Id : 7935233659 Display Question Number : Yes Is Question
Mandatory : No

Gypsum 1s an example of
22030 2,8 80 Gorrde
Options :

1. Argillaceous rock
L x  SOBVAHD o8

2. Arenaceos rock
OV O°5

3. Rudaceous rock
P OD™ O°8

4. Evaporite

)P BES

4, &

Question Number : 60 Question Id : 7935233660 Display Question Number : Yes Is Question
Mandatory : No

Flat topped seamounts are known as
TS 3D VT 0 e90EFH
Options :

1. Mesa



sx O
3. Guyots
H3O3°ED )
3.v
4. Cirques
AT S0
4, %

Question Number : 61 Question Id : 7935233661 Display Question Number : Yes Is Question
Mandatory : No

Slate 1s formed due to the metamorphism of

B0, Ear0es B0 5B WEY DGO

Options:

1. Shale
2O

3. Sandstone
QNET O

4. Limestone
A o) T°ON



Question Number : 62 Question Id : 7935233662 Display Question Number : Yes Is Question
Mandatory : No
An example of silica- oversaturated rock is

VEO5-8,90 NV BIE T°8 ABNE), G S

Options :
1. Granite
TSE

1.4

2. Dunite

ST

3. Dolernite
GBS

4. Diorite
Cfgﬁj"ﬁ_éﬁ

4. %

Question Number : 63 Question Id : 7935233663 Display Question Number : Yes Is Question
Mandatory : No

A fault i which hanging wall moves up relative to the foot wall 1s called

F0 K% 000D JerT Fth 8 E6S S50 ©0ey)
Options:
1. Reverse

L v 000



2. Normal fault
e D0

3. Nappe
==
NPEEEENESN
4. Gravity fault
) HSveE €S S°Ho

Question Number : 64 Question Id : 7935233664 Display Question Number : Yes Is Question
Mandatory : No

Omphacite and garnet are the major minerals of
2,006 HBAN A Eo (DG DTN

Options :
1. Khondalite
MOCHE3E]

2. Eclogite

DS 1ES

3. Charnockite
£3°65) 8¢5

4. Migmatite

ST T



Question Number : 65 Question Id : 7935233665 Display Question Number : Yes Is Question
Mandatory : No

The Himalaya mountains are example for
AT DG e AE GrerSed

Options :

1. Relict type
28 B0

2. Fault type
é§§$;}€5§C)

3. Accumulation type

230 G8o

4. Fold type
oeY &8o

4.

Question Number : 66 Question Id : 7935233666 Display Question Number : Yes Is Question
Mandatory : No

The S-waves can travel only through

S- $S0mre &S Sor|ehad (HOSTEIOTINDD
Options :
1. Vaccum

SRSV ORY



X AT
me)

3. Liquids
1C3a°eD

4. Solids

BV PATAMOM DY
4.9

Question Number : 67 Question Id : 7935233667 Display Question Number : Yes Is Question
Mandatory : No

A Perthite 1s an intergrowth of potassic feldspar

DR BTO PP POV By, e0esS DS

Options :
1. Quartz

2. Calcite
SEIND

3. Biotite
8&@?@5

4. Albite
e3B3HE

4.+



Question Number : 68 Question Id : 7935233668 Display Question Number : Yes Is Question
Mandatory : No

Cirques are formed due to--------- action

HETY SO e 2585 5230 S )CE 0N

Options :

1. River
NIR

2. Wind
e)

3. Glacial
PN ANTATOWN

4. Volecanic

Lx @008 550

Question Number : 69 Question Id : 7935233669 Display Question Number : Yes Is Question
Mandatory : No

The line of maximum curvature i a folded surface 1s called

S0 THFIS) BIBS0ES KB & DY 903
Options :
1. Hinge

v 8Sew



2. Limb
DINTOWINTe

3. Crest
EXN

4. Axial plane
0§ be>o

Question Number : 70 Question Id : 7935233670 Display Question Number : Yes Is Question
Mandatory : No

Which one among the following rocks are example for aquiclude
806 T°%S O @8 :8r&E) Grrrde

Options :
1. Clay
3
1. "
2. Granite
O°
2. %
3. Gravel
$08%
3. %

4. Sandstone
QNSTON



Question Number : 71 Question Id : 7935233671 Display Question Number : Yes Is Question
Mandatory : No

Undulations found i the upper surface the sedimentary rocks are called
D) G000 SVD0D BT DI ©NT D8 O OEPE)

Options :

1. Concretions
B3OS0

2. Ripple marks

e HED
X%

3. Ventifacts

S30e3ars8)

4. Cross bedding
1570 D)

Question Number : 72 Question Id : 7935233672 Display Question Number : Yes Is Question
Mandatory : No

Which one of the following mineral 1s an example for piezoelectric

800 DATOS DO DEVS| 5B ST Ee

Options :
. Quartz



2. Fluorite
DB

3. Calcite
53

4. Beryl
4. F 365

Question Number : 73 Question Id : 7935233673 Display Question Number : Yes Is Question
Mandatory : No

Which one of the following 1s a magnesium bearing mica

8068 ¢3S i) Ao EOAS s
Options :

1. Muscovite

NWEVIISTN

2. Biotite

DT

3. Phlogopite

Phlogopite
3.¢

4. Lepidolite
SDESBE

4. %



Question Number : 74 Question Id : 7935233674 Display Question Number : Yes Is Question
Mandatory : No

Thermal expansion and contraction leading to breaking of rocks 1s called
0% D90 TONTRE 0D e e HBAM OELS0
SIolAN0N

Options :

1. Chemical weathering

L x ORPODA &R 00

2. Mechanical disintegration
- 05038 D)0

3. Biological weathering

232280 FEFIBE0

3. %

4. Rock decomposition
Lx  OS B0R0SG0

Question Number : 75 Question Id : 7935233675 Display Question Number : Yes Is Question
Mandatory : No

Mushroom topography 1s an erosional feature of

HEFTCRDE Qerdyes §°¢% 8 €20

Options :

1. Wind action

me) 585



2. River action

56 TS

3. Glacial action

NV YO\ SN To s

4. Sea action

Qo E TIBS

Question Number : 76 Question Id : 7935233676 Display Question Number : Yes Is Question
Mandatory : No

Younger rock completely surrounded by older rocks 1s known as
5O ares 3OO LHEPSINEDES AN T7ed 9083 %)
Options:
1. Outlier
AN I (aldlervts

2. Syncline
, B35 OES e
3. Monochine
F0°S B
3. %
4. Inlier

4. %



Question Number : 77 Question Id : 7935233677 Display Question Number : Yes Is Question
Mandatory : No

An example of crystal system without planes of symmetry and axis of symmetry 1s
aATE OE) 00 aNO0IN AT @80 B 890 e S
JARAKOI

Options:

1. Triclinic

AINE
1.4 )
2. Cubic
. SogedS
3. Monoclinic
VNSRS
3. %
4. Tetragonal
BETHSD
4. %

Question Number : 78 Question Id : 7935233678 Display Question Number : Yes Is Question
Mandatory : No

The a-axis m orthorhombic crystal system 1s also called as axis,
0357025 18O IO R a- ©FA) 3.0 & $r@ ©0trd.
Options :
1. Brachy

25°0)

1.4 N



2. Clino

SN

3. Macro
. SmE
4. Ortho axis
s @0

Question Number : 79 Question Id : 7935233679 Display Question Number : Yes Is Question
Mandatory : No

Which of the following discontinuities separates the mantle and core

806 365’ DO 5703 B FBHD ¢ B0
Options :

1. Lehman

[SINVWS

2. Conrad
Sy e

3. Gutenberg

GATNTA0)

3.¥

4. Mohorovicic

PO DT



Question Number : 80 Question Id : 7935233680 Display Question Number : Yes Is Question
Mandatory : No

Bharchan, crescent-shaped sand dune produced by the action of
3639, 900 TTE 2NE B2 88 0507 65 )8 BOHGOE

Options :

1. Volcanoes

. ) D sEeen
2. River

- NIA
3. Wind

30 O
4. Glacier

Lx SIS0

Question Number : 81 Question Id : 7935233681 Display Question Number : Yes Is Question
Mandatory : No

Lunar lake of Maharashtra 1s formed due to impact of

927590 SEEIOTP ST S R 0(E) DB ) IEIGOE
Options:

1. Wind
L x O



2. Glacial
RSN ATOMWN

3. River
NIR)

4. Meteorite

5@
4. 4

Question Number : 82 Question Id : 7935233682 Display Question Number : Yes Is Question
Mandatory : No

A basin shaped 1gneous body 1s called
28 852506Y &o% @Y 0HV 2B 90T
Options:

1. Batholith
8&5 ed

2. Lopolith

PSS c‘f}f’@ L)

2. ¥
3. Phacolith
; NRRDLE

4. Laccolith
8 s

4. %



Question Number : 83 Question Id : 7935233683 Display Question Number : Yes Is Question
Mandatory : No

The size of sand n sedimentary rocks is
9553 D2 7S RDE HOSTEIO

Options :
l1.1/16 to 1 mm

2. 1/256 to 1/16 mm

3.1/16 to 2 mm

4. 1/256 to 2 mm

Question Number : 84 Question Id : 7935233684 Display Question Number : Yes Is Question
Mandatory : No

The radius of the Earth 1s
255700 T30E) IEPQ D

Options :

1. Nearly 6371 Kms

1.4

2. Nearly 5371 Kms
2. ®

- 3. Nearly 7371 Kms



4. Nearly 8371 Kms
4. %

Question Number : 85 Question Id : 7935233685 Display Question Number : Yes Is Question
Mandatory : No

Khondalite mainly consists of
DOGBESE (DO DA 0eNOH
Options :

1. Sillimanite and Garnet

. VDITZE DO D) €
2. Kyanite and Augite
536 OO e9fied
2. %
3. Hypersthene and Biotite
) HORS 0BG T
3.
4. Olivine and epidote
o 2ODS H0AN ADEES
4,

Question Number : 86 Question Id : 7935233686 Display Question Number : Yes Is Question
Mandatory : No

In the underground, the upper surface of the zone of water saturation 1s called

25506, LS 082 E i &80 IOTARON

Options:

1. %



1. Spring
INPTOL

2. Water table
ed HEJE

2. &

3. Contour

es8yed

4. Intersection

DOCIN

Question Number : 87 Question Id : 7935233687 Display Question Number : Yes Is Question
Mandatory : No

A feldspar rich sandstone is called as

2OV ©HEOT 0T FNETONA) 0y
Options :
1. Arkose
ST
%

2. Mudstone
P Melalox e

3. Greywacke

[e°S



4. Grit
1HES

Question Number : 88 Question Id : 7935233688 Display Question Number : Yes Is Question

Mandatory : No

In ‘Unmiaxial’ crystals principal optic section is parallel to
A0S NS S EI0IS (95 8§ Dario derosdorr
FJOIAVOIA

Options :

1. X -axis
X-8 0

2. B -axis
B- @50

3. A -axis
A-e8 0

4. C —axis
C-e80

Question Number : 89 Question Id : 7935233689 Display Question Number : Yes Is Question

Mandatory : No

The silicon: oxygen ratio m double chain silicate structure 1s
o O o O oy
2O5S: 20O TS VOB V00 €38 1B )3



Options :

-2 25

Question Number : 90 Question Id : 7935233690 Display Question Number : Yes Is Question
Mandatory : No

In recumbent fold the axial plane 1s essentially
098 eSS ©F H020Q DST0 SO GO0

Options:

1. Inclined
SO

2. Horizontal

, v S.0&30H8r0S
3. Rounded
. x  (boldorr



4. Vertical
QYT

4. %

Question Number : 91 Question Id : 7935233691 Display Question Number : Yes Is Question
Mandatory : No

Gneisses derived from sedimentary rocks are called
2993 2969 FOO DOG &INOTIN DN TOTARON

Options :

1. Ortho gneiss
e 710

2. Para gneiss

orO° ()
2. %
3. Migmatite
FAVOPEATN
3. %

4. Mylonite
SIS

Question Number : 92 Question Id : 7935233692 Display Question Number : Yes Is Question
Mandatory : No

Slikensides indicate the presence of

Slickensides &R IO

Options :



1. Fault zones
€50d)) cDOCICTEN

1.9
2. Folds
;J}ééf’_b
2. %
3. Jomnts
SOV
3, %
4. Volcanoes
@A) DO (&N
4, %

Question Number : 93 Question Id : 7935233693 Display Question Number : Yes Is Question
Mandatory : No

Which of the following unconformities, the strata on opposite sides are not parallel

800 T3S o) ISR, VBN Eed) SPEeD NTFOSEOM 0
Options :

1. Disconformity

. €90 0T ed
2. Angular
L Sefon

3. Nonconformity

29 ETeHed



Question Number : 94 Question Id : 7935233694 Display Question Number : Yes Is Question
Mandatory : No

The strike and dip of the beds are measured with the help of
23C9 strike and dip © DFPAHOS TFenardd
Options :

1. Picnometer

D8 erd

1. %

2. Gomometer

) FATBrDEE
3. Clinometer
SINPANN
4. Gravimeter
TS
4, %

Question Number : 95 Question Id : 7935233695 Display Question Number : Yes Is Question
Mandatory : No

In chevron fold hinges are
D070 oI5 @9e5SveD ° €500°) O

Options :



1. Smooth

NVATAVREN

2. Rounded
(HOoCsOorT

3. Straight

Mo Vi
4. Sharp and Angular
DA S0 B
4.+

Question Number : 96 Question Id : 7935233696 Display Question Number : Yes Is Question
Mandatory : No

Graben and horst related to

23 oA 00, QODOHOVNE

Options:
1. Fold
a0Coes

2. Joint
o6

3. Glacier
235525 D0

3. %



4. Fault

y v €50))

Question Number : 97 Question Id : 7935233697 Display Question Number : Yes Is Question
Mandatory : No

Juvenile water 1s of origin
2P IO DK S0°HO
Options :

1. Atmospheric
D00

2. Connate

38

3. Metamorphic

Aaar0ed O

4. Magmatic

o307 2¢38

4, &

Question Number : 98 Question Id : 7935233698 Display Question Number : Yes Is Question
Mandatory : No

Andalusite 1s a polymorph of
e90CEN V) NS, DaTVETDO

Options:



1. Kyanite

556
1.4
2. Calcite
T8
3. Gypsum
- 2200
4. Bauxite
AMSALA
4. %

Question Number : 99 Question Id : 7935233699 Display Question Number : Yes Is Question
Mandatory : No

The Hardness of apatite 1s
e T A& 5°OS0 .
Options :

1.9



Question Number : 100 Question Id : 7935233700 Display Question Number : Yes Is Question
Mandatory : No

Largest producer of barytes in India 1s

2y ESTFOS @b OEOMT BBEIR e 1B .

Options :
1. Bihar
2555

1. %

2. Jharkand

L« Q0%
3. Andhra Pradesh
L, SODODI

4. Madhya Pradesh
SDSDTT

4. %



